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      General Instructions to Candidates :

There is a 'Cool off time' of 15 minutes in addition to the writing time of
2½ hrs.
You are neither allowed to write your answers nor to discuss anything with
others during the 'cool off time'.
Use the 'cool off time' to get familiar with questions and to plan your answers.
Read the questions carefully before answering.
All questions are compulsory and only internal choice is allowed.
When you select a question, all the sub-questions must be answered from the
same question itself.
Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.
Give equations wherever necessary.
Electronic devices except nonprogrammable calculators are not allowed in the
Examination Hall.

     j]¡SÇw°¥:
j]¡Ç]xVa yop¾]jV  kOrRo 15 o]j]ãV "WP¥ KLlV RRaU' DºLp]q]¨OU. CT
yop¾V S\Lh|°¥¨V D¾qU IuOfLSjL, oãOçvqOoLp] Bwp
v]j]opU ja¾LSjL kLa]Š.
D¾q°¥ IuOfOÐf]jV oOÒV S\Lh|°¥ èÈLkO¡‹U vLp]¨eU.
IŠL S\Lh|°¥¨OU D¾qU IuOfeU. CS£e¤ S\LpVyV oLNfSo
AjOvh]¨OWpOçO.
KqO  S\Lh|jÒ¡ D¾qRouOfL¢ RfqR´aO¾O Wu]´L¤ Dk S\Lh|°tOU
ASf S\Lh| jÒq]¤ j]ÐV fRÐ RfqR´aOS¨ºfLeV.
We V̈ WPŸsOW¥, \]Nf°¥, NYLlOW¥, IÐ]v D¾q SkÕr]¤¾RÐ
DºLp]q]¨eU.
Bvw|oOç òs¾V yovLW|°¥ RWLaO¨eU.
S\Lh|°¥ ospLt¾]sOU j¤W]p]ŸOºV.
SNkLNYLoOW¥ R\áLjLWL¾ WL¤¨OSsãrOW¥ Ku]RWpOç KqO
CsWVSNaLe]WV DkWqevOU kq}ƒLzLt]¤ DkSpLY]¨OvL¢ kLa]sæ.
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1. Worker population ratio is ........

a) Population / Worker

b) Worker / Population

c) Population / Worker × 100

d) Worker / Population × 100

2. List any four effects which 'the
miracle seeds' created in the
Indian agriculture.

3. For a class room discussion
Ashna collected the following
information about present India.

a) Infant mortality rate – 45

b) Life expectancy – 66.4

c) Overall literacy level – 74.04

Compare them with the British
period and comment.

4. Demographic data on birth and
death rates in India are collected
and published by ...........

a) RGI

b) NSSO

c) CSO

d) Labour Bureau

5. Distinguish between bar
diagram and histogram.

(Hint : Not to draw diagrams)

(2)

1. RfLu]sLt]&^jyUX| AjOkLfU

IÐfV ........... .

a) ^jyUX|/RfLu]sLt]

b) RfLu]sLt]/^jyUX|

c) ^jyUX|/RfLu]sLt] × 100

d) RfLu]sLt]/^jyUX| × 100

2. CÍ|pORa WL¡x]WSoXsp]¤

"AfVnOf v]¾OW¥' yQxVa]\ÿ

JRfË]sOU jLsV ls°¥ IuOfOW.

3. WæyV oOr]p]Rs \¡\ÿ¨Lp] BxVj

j]sv]Rs CÍ|Rp yUmÌ]\ÿ fLRu

krpOÐ v]vq°¥ SwXq]\ÿO.

a) w]wOoqe j]q¨V – 45

b) BpP¡ RRh¡Z|U – 66.4

c) RoL¾U yLƒqf j]q V̈ & 74.04
CvRp Nm]Ÿ}xV WLsZŸvOoLp]

fLqfo|U R\pVfV j]°tORa

An]NkLpU WOr]¨OW.

4. CÍ|p]¤ ^jj&oqe j]q¨OWRt

yUmÌ]\ÿOtt h¾°¥

SwXq]¨OWpOU Nky]È}Wq]¨O

WpOU R\áOÐfV ..............

a) RGI

b) NSSO

c) CSO

d) Ssm¡ m|PSrL

5. mL¡ cpNYLoOU z]yVSãLNYLlOU

fÚ]sOtt v|f|Ly°¥ IuOfOW.

(yP\j :– cpNYLoOW¥

vqS¨ºf]sæ)

(3)

(4)

(1)

(1)

(2)

(3)

(4)

(1)

(1)
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6. jLsV Roc]¨¤ NkSvwj
kq}ƒWt]¤ Ror]jOU WLµjpOU
Sja]p rLËOW¥ ...........

6. The various ranks secured by
Merin and Kanchana in four
medical entrance examinations
are ....

Exams Rank of Merin Rank of Kanchana
kq}ƒW¥ Ror]R£ rLËV WLµjpORa rLËV

KEAM 1 2
AIPMT 3 4
JIPMER 2 3
AIIMS 4 1

Calculate the rank correlation
and interpret the result.

7. Find the one which is NOT a
measure for improving
agricultural market system.
a) Adoption of green revolution
b) Assurance of minimum

support price
c) Maintenance of buffer stock
d) Public distribution system

8. a) Name the system of farming
that restores, maintain and
enhance Ecological balance.

b) Point out any three merits of
it.

9. Prepare an essay on various
policies and programs towards
poverty alleviation in India. Do
you find any faults in the
implementation of these
programs? Substantiate.
(Your answer in three pages.)

10. A value of correlation coefficient
(r) = +1.2 indicates –
a) Perfect +ve correlation
b) High degree of +ve

correlation
c) Low degree of +ve

correlation
d) Error in calculation

rLËV yzmÌU WRº¾] lsU
v|LX|Lj]¨OW.

7. WL¡x]W v]kejU
Ro\ÿRÕaO¾LjOtt jaka]Wt]¤
RkaL¾fV .............

a) zq]f v]kævU BqUn]\ÿfV

b) fL°Ov]s DrÕL¨¤

c) WqOf¤ SwXq ja¾]ÕV

d) RkLfOv]fqe yNÒhLpU

8. a) RR^v yUÍOsjU v}RºaO¨L
jOU j]sj]¡¾LjOU v¡È]Õ]¨L
jOU yzLp]¨OÐ WQx] q}f].

b) CT WQx] q}f]pORa oPÐV NkiLj
YOe°¥ \Pº]WLe]¨OW.

9. CÍ|p]¤ jaÕ]sL¨]p v]v]i
hLq]Nh| j]¡oL¡²j jp°StpOU
kq]kLa]WStpOU yUmÌ]\ÿV KqO
Dkj|LyU fáLrL¨OW. CT
kÈf]WtORa ja¾]Õ]¤ j]°¥
IRÍË]sOU SkLqLpVoW¥
WLeOÐOSºL? (D¾qU oPÐO
Sk^]¤ v]wh}Wq]R\ÿuOfOW)

10. yzmÌ YOeLËU (r) = +1.2
IÐfV yP\]Õ]¨OÐfV ..........
a) kP¡¹ SkLy]ã}vV yzmÌU
b) Dp¡Ð SkLy]ã}vV yzmÌU
c) fLuVÐ SkLy]ã}vV yzmÌU
d) We¨OWPŸs]¤ kã]p k]wWV

(3)

(1)

(1)

(1)

(8)

(4)

(3)

(1)

(1)

(1)

(8)

(4)
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11. Identify the names of the steps
in a project to which you can
include the following statistical
tools you have studied.

11. j]°¥ kb]\ÿ]ŸOtt fLRu krpOÐ
yLUX|W DkWqe°Rt KqO
RNkL^WVa]Rs JRfsæLU RðÕOWt]¤
D¥RÕaO¾LU IÐV WRº¾OW.

(2)

12. State the two senses in which the

word 'statistics' is used.

Elucidate.

13. An import substitution policy.

a) Increase in the tax on

imported goods

b) Fixing of quotas

c) Enlarge domestic production

d) All of these

14. a) Name the outcome of the two

policy strategies of

liberalization and

privatization.

b) Do you think that Indian

agriculture sector was

adversely affected by the

reform process? Justify.

Statistical tools Steps in making project
yLUX|W DkWqe°¥ RNkL^WVa]Rs RðÕOW¥

a) Personal interview Collection of data
v|©]kqoLp An]oOXU h¾SwXqeU

b) Measures of central tendency .......................................
SWNÎ}p NkvefpORa AtvOW¥

c) Graphs and diagrams .......................................
NYLlOWtOU cpNYLoOWtOU

12. "yLUX|WU' IÐ khU

DkSpLY]¨LvOÐ qºV A¡À

fs°¥ Jv? v|©oL¨OW.

13. Cr¨Oof] WOr¨OÐf]jOtt KqO

jpU.

a) Cr¨Oof] yLij°¥¨O

SosOtt j]WOf] v¡È]Õ]¨OW.

b) SW~LŸ j]wV\p]¨OW

c) Bn|Íq DfVkLhjU WPŸOW

d) oOWt]¤ kr´RfsæLU

14. a) DhLqv¤¨qeU, y~WLq|v¤

¨qeU IÐ} qºV jpkqoLp

fNÍ°¥ yQxVa]\ÿ AjÍq

ls¾]R£ SkqV IuOfOW.

b) kq]xVWLq NkNW]p CÍ|¢

WL¡x]W SoXsRp ShLxWqoLp]

mLi]\ÿO IÐV j]°¥

WqOfOÐOSºL? j|Lp}Wq]¨OW.

(1)

(4)

(2)

(1)

(2)

(1)

(4)

(2)

(1)
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15. State to which country the
following demographic features
belongs to.
(Hint : India, China or Pakistan)
a) Highest annual growth of

population
b) Lowest population density
c) Less urbanization
d) High fertility rate

16. Observe the graph. It is .........

a) Uni-modal data

b) Bi-modal data

c) Multi-modal data

d) None of these

17. Calculate the Consumer Price
Index (CPI).

15. fLRu j¤W]p]q]¨OÐ ^jyUX|L
kqoLp NkSf|WfW¥ JfV
qL^|vOoLp] mÌRÕŸ]q]¨OÐO.

(yP\j:& CÍ|, RR\j, kL¨]òL¢)

a) Dp¡Ð Nkf]v¡x ^jyUX|L
v¡ÈjvV

b) fLuVÐ ^jyLNÎf

c) WOr´ kŸev¤¨qeU

d) Dp¡Ð DTxqf j]q¨V

16. NYLlV j]q}ƒ]¨OW. CfV ..........

a) KqO SoLcV oLNfoOtt h¾oLeV

b) qºV SoLcOWtOtt h¾oLeV

c) ks SoLcOWtOtt h¾oLeV

d) Cv KÐOosæ

17. DkSnLWVfQ v]s yP\WLËU

WºOk]a]¨OW.

Items / Cj°¥ Weight (in%) Base year price Current year price
fP¨U (% ¤) Aa]òLj v¡x v]s f¢ v¡x v]s

Food / BzLqU 50 2000 3000

Cloth / vyVNfU 15 1000 1200

Fuel / CÌjU 25 400 700

Rent / vLaW 10 500 600

(2)
(2)

(1)

(3)

(1)

(3)
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18. ""CÍ|p]¤ ja¾OÐ o]¨

y¡SvÿWtOU yLÒ]¥ y¡SvÿWtLeV''.

CT NkyVfLvjRp k]ÍOe¨OÐf]

jOtt JRfË]sOU oPÐV WLqe°¥

WRº¾OW.

19. S^Lc] AsæL¾fV WRº¾OW.

a) fkyV o^OUhL¡ WÚ]ã] –

v]h|Ln|LyU

b) NmºVaVsL£V WÚ}x¢ – yOò]q

v]WyjU

c) WL¡Rvÿ WÚ]ã] – WQx]

d) VKRV rLvO – Shw}p vqOoLjU

We¨L¨¤

20. a) oLjW v]\sj¾]R£

BSkƒ]W Atv]R£ SkqV

IuOfOW.

b) oLjW v]\sjU j]¡v\]¨OW.

c) fLRu j¤W]p]q]¨OÐ

h¾°tORa oLjW v]\sjU

WºOk]a]¨OW.

18. "Most of the surveys conducted
in India are sample surveys".

Prepare any three reasons to
support the above statement.

19. Which is NOT a pair?

a) Tapas Majumdar Committee
– Education

b) Brundtland Commission –
Sustainable development

c) Karve Committee –
Agriculture

d) VKRV Rao – National income
estimation

20. a) Name the relative measure of
standard deviation.

b) Define SD.

c) Calculate the standard
deviation from the following
data :

Marks 0–10 10–20 20–30 30–40 40–50 50–60 60–70 70–80
oL¡¨OW¥

No of students
3 5 6 8 10 1 12 5WOŸ]WtORa I¹U

21. Do India faces challenges in the
power sector? Elucidate.

21. DT¡² SoXsp]¤ CÍ|

RvsæOv]t]W¥ An]oOX}Wq]¨O

ÐOSºL? v]whoL¨OW.

(3)

(1)

(1)

(3)

(1)

(6)

(3)

(1)

(1)

(3)

(1)

(6)
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22. For conducting a survey among

200 households, Anumitha has

written the names of all 200

households on pieces of paper,

mixed well and 20 names are

selected one by one. It is ...........

a) Census method

b) Random sampling

c) Nonrandom sampling

d) None of these

23. While preparing a frequency

distribution from the raw data,

name the questions we have to

address. Briefly explain in 1½

pages.

(Hint : Four steps in the

construction of a frequency

distribution)

24. The heights (in cm) of 11 plants

in a garden are

22. 200 WOaOUm°t]¤ KqO y¡Svÿ

ja¾LjLp] AjOo]f oOuOv¢

WOaOUm°tOSapOU SkqOW¥ KLSqL

SkÕr]¤ IuOf], nUY]pLp] CaWs¡

¾], Af]¤ j]ÐOU 20 SkqOW¥

KLSqLÐLp] IaO¾O. CfV .........

a) Ry¢yyV q}f] BeV

b) rLºU yLÒ]¥ BeV

c) rLºLU&Cfq yLÒ]¥

d) CRfLÐOosæ

23. AyUyVWQf h¾°t]¤j]ÐOU

BvQ¾] v]fqe kŸ]W

fáLrL¨OSÒL¥ D¾qU j¤SWº

S\Lh|°¥ Jv? R\rOfLp]

v]wh}Wq]¨OW. (KÐq Sk^]¤

D¾qU IuOfOW)

(yP\j :& BvQ¾] v]fqe

j]¡Ú]f]p]Rs jLsV \OvaOW¥)

24. KqO kPSÍLŸ¾]Rs 11 R\a]WtORa

Dpq°¥ (Ry.o]. p]¤)

(1)

(1)

a) SoLcV RfqR´aO¨OW.

b) R\a]WtORa o}¢, o}c]p¢

Dpq°¥ yPNfvLW|°¥

DkSpLY]\ÿV WºOk]a]¨OW.

a) Choose the mode.

b) Calculate the mean and
median height of the plants,
by using the equations.

5 20 22 10 8 4 3 17 10 13 12

(1)

(4)

(4)

(1)

(1)

(4)

(4)
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25. CÍ|p]Rs RfLu]¤ SoXspOoLp]

mÌRÕŸ wq] AsæL¾ NkyVfLvj.

a) 93% RfLu]sLt]WtOU AjTk&

\Lq]W SoXsp]sLeV.

b) 50%  RfLu]sLt]WtOU y~pU

RfLu]¤ R\áOÐvqLeV.

c) NkMÐ & WLs]W RfLu]s]sæLpVo

W¥ CÍ|¢ WL¡x]W SoXsp]¤

j]sj]¤¨OÐO.

d) 1972–2010  WLsptv]¤

WPs]¨O ke]pOÐvq]¤ j]ÐOU

y~pU RfLu]¤ R\áOÐvq]Ss V̈

RfLu]sLt]W¥ oLr].

26. "yOò]q v]WyjU' j]¡v\]¨OW.
CfV SjaLjOtt v]v]i fNÍ°¥

j]¡SÇw]¨OW. (qºO Sk^]¤ D¾qU

IuOfOW)

27. oLjv oPsij qPk}WqevOoLp]
mÌRÕŸ fLRu kr´]q]¨OÐ
WLq|°t]¤, CÍ|pORa CSÕLuR¾
AvòRp yUmÌ]\ÿV j]°tORa
An]NkLpU NkWa]Õ]¨OW.

a) IsæLv¡¨OU v]h|Ln|LyU

b) s]UY yof~U

c) DÐf v]h|Ln|LyU

28. KqO WPŸU yLij°tORa f¢
v¡xS¾pOU Aa]òLj
v¡xS¾pOU v]sW¥ pgLNWoU 180
qPkpOU 135 qPkpOU BeV. CfV
WLe]¨OÐfV ............

a) v]s 30.33% WPa]

b) v]s 33.33% WOr´O

c) v]s 133.33% WPa]

d) Cv KÐOosæ

25. Which one of the following
statements is NOT TRUE about
the employment sector in India?

a) 93% workers are in the
informal sector.

b) 50% of the workers are self-
employed.

c) Disguised and seasonal
unemployment exist in the
Indian farm sector.

d) During 1972–2010 there was
a movement of workers from
casual wage to self-
employment.

26. Define the term, 'Sustainable
development'. Suggest various
strategies for attaining it in two
pages.

27. Express your view in the
following aspects with reference
to the present human capital
formation in India.

a) Education for all

b) Gender equity

c) Higher education

28. The current and base year prices
of a group of commodities are
Rs. 180 and Rs. 135 respectively.
It shows ........

a) price is said to have risen by
30.33%

b) price is decreased by 33.33%

c) price is increased by 133.33%

d) none of these

(3)

(1)

(1)

(5)

(3)

(1)

(1)

(5)


